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VP/USPS-T31-2.

Please refer to your testimony starting on page 12, line 21, through page 13, line 5,

where you discuss the Availability of Alternatives (criterion 5).

a.

Would you agree that the availability of alternatives, including other media
(which you mention), should be reflected in the own-price demand elasticity as
shown in your Table B-1 on page 11?7 Please explain any disagreement.

In your opinion, would the ready availability of alternatives at reasonable cost,
and having a high (in absolute value) own-price elasticity of demand, argue for

an increase or a decrease in coverage? Please explain.

VP/USPS-T31-3.

Please refer to your testimony at pages 13-14 with regard to the degree of preparation

(criterion 6).

Please confirm that, if 50 billion pieces have an attributable cost of 10 cents
each, they will cause the Postal Service to incur a total attributable cost of $5
billion. If you do not confirm, please provide the correct amount.

Please confirm that, if those 50 billion pieces convert to workshared mail with
an attributable cost of 6 cents each, they will cause the Postal Service to incur an
attributable cost of only $3 billion. If you do not confirm, please provide the
correct amount.

Please confirm that, if these 50 billion pieces pay their attributable costs of $3

billion, plus a contribution to institutional costs of $2.5 billion, the total revenue
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from these pieces will be $5.5 billion, or 11 cents per piece. If you do not
confirm, please provide the correct amount.

Please confirm that under the scenario that you describe on page 13, line 20,
through page 14, line 7, (i) the 50 billion workshared pieces would result in the
Postal Service incurring $3 billion of attributable costs and earning $2.5 billion
towards its overhead — i.e., markup (or gross profit margin) of 83 percent; and
(i1) the 50 billion on non-workshared pieces would cause the Postal Service to
incur $5 billion of attributable costs, while earning $2.5 billion towards its
overhead — i.e., a markup (or gross profit margin) of 50 percent. Please
explain any non-confirmation.

Comparing the situations described by (i) and (ii) in preceding part d, would you
agree that the 50 billion pieces of non-workshared mail would cause the Postal
Service to incur an additional $2 billion of attributable costs in order to earn the
same $2.5 billion contribution to institutional costs? Please explain any non-
confirmation.

If the market for mail service were competitive, and the Postal Service were
operating in a business-like manner as part of a competitive industry, would you
expect an outcome such as that described in preceding part €? Or would you
expect competition to equalize the rate of return on workshared and non-

workshared mail? Please explain.
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g. Please discuss the extent to which the Postal Service should attempt to establish
coverages and prices for its products in a business-like manner, and the extent to

which the Postal Service should ignore (or override) any such consideration.

VP/USPS-T31-4.
Please refer to your testimony concerning Standard Regular and ECR mail at page 26,
line 19, through page 30, line 20.

a. You state that Standard Regular has a relatively low intrinsic value of service (at
p. 27, 1. 1) and Standard ECR also has a relatively low intrinsic value of service
(at p. 28, 11. 22-23). Do you have any reason to believe that the intrinsic value
of service for Standard Regular is distinguishably higher or lower than it is for
Standard ECR? If so, please explain the basis for your answer.

b. If rates for Standard Regular and Standard ECR were set in competitive
markets, would the coverages likely be similar to those that you have proposed,
or would competition tend to reduce the coverage on ECR and, perhaps,
increase it on Standard Regular, so as to make the rate of contribution on each

more equal? Please explain.

VP/USPS-T31-5.
Your testimony lists the ratemaking criteria of the Postal Reorganization Act at page 8,

and discusses them at pages 9-15.
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After taking these criteria into account, please explain the extent to which you
believe the Postal Service or the Commission can set rates or rate relationships
emulating those which would obtain in a competitive market?

Do you believe that the likely outcome under competition constitutes a
reasonable criterion, or yardstick, to use when evaluating whether rate levels

and rate relationships are fair and equitable?

VP/USPS-T31-6.

Your testimony (USPS-T-31) states: “ECR mail has a very high degree of preparation

by the mailer (criterion 6); even the basic rate category must be line-of-travel sequenced, and

the high-density and saturation categories are walk-sequenced.” (Page 30, lines 1-3.)

a.

Please confirm that ECR basic rate mail may be either in walk-sequence or line-
of-travel sequence (see DMM section 243.6.3.1).

Please explain the additional work for mailers associated with putting mail in
line-of-travel sequence and walk-sequence.

Please confirm that there is no requirement that any Standard Regular mail be
either line-of-travel sequenced or walk sequenced. If you cannot confirm,
please identify which Standard Regular must be line-of-travel sequenced or walk

sequenced.



